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INFORMATION / INSTRUCTIONS: 

___________________________________________________________________________ 

 Submit this question paper inside your script. 

 This is a closed-book assessment. 

 You may use silent, non-programmable calculators. 

 Where applicable, round all calculations to two decimals, unless stipulated otherwise. 

 Indicate your index number (next to your name on the attendance register) next to 

the UJ logo on all your scripts. 

 Read the questions carefully and answer only what is required. 

 Number your answers clearly and correctly as per the question paper. 

 Write neatly and legibly on both sides of the paper in the answer book, starting on the first 

page. 
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QUESTION 1 

Multi-product CVP 

[16 MARKS] 

29 Minutes 

Blue Drop Ltd is a pool maintenance company that operates on a monthly contract basis as 

well as once-off call outs. Blue Drop’s contract clients pay less per service than once-off clients 

because of a discount granted for their loyalty. Contract clients pay R1 200 per month for 

weekly maintenance, while once-off clients pay 10% more per service. Exceptionally large 

pools are priced at R370 per service. The monthly budget (assume four weeks per month) for 

Blue Drop Ltd has yielded the following information: 

 CONTRACT ONCE-OFF LARGE POOL 

Number of services 120 30 6 

Cleaning chemicals per service R15 R17 R22 

Cleaning tools per service R20 R20 R20 

Number of workers per service 2 2 3 

Labour time per service 1½ hours 1½ hours 1½ hours 

Variable overheads per service R12 R12 R12 

Workers are remunerated at R45 per hour. Fixed manufacturing overheads are allocated to 

products in a ratio of 3:2:1: contract customers R3 750; once-off customers R2 500; and large 

pool R1 250. 

REQUIRED: 

1.1 Calculate the monthly break-even point for Blue Drop Ltd, in units, for each 

product and in total. (11) 

1.2 How many units should Blue Drop Ltd sell to reach a target profit before tax 

of R15 000 per month? Present your answer in a marginal costing income 

statement format. (5) 
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QUESTION 2 

Limiting factors 

[19 MARKS] 

34 Minutes 

Jake makes wooden toys that he sells at a local street market on weekends. He makes 

wooden trains, cars and a pram for dolls. The sales of the pram have been much slower 

recently compared to the sales of the other two products, although it is priced at half the price 

of a train.  

The following information is available per unit: 

 Train Car 
Pram 

Selling price per unit R220 R130 ? 

Material:    

Wood (R80 per meter) R60 R32 R24 

Wheels R25 R15 R7 

Labour rate per hour R30 R30 R30 

Labour time per unit 3 hours 1.5 hours 1.25 hours 

Variable overheads per unit R22 R22 R22 

Jake’s usual demand on a Saturday is nine trains, seven cars and two prams. He makes toys 

eight hours a day for five days a week and sells these toys on Saturdays. Jake will be unable 

to make toys next Friday due to a family event. Only nine meters of wood will be available next 

week. 

REQUIRED: 

2.1 Calculate the optimal production plan for Jakes for next week. (19) 
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QUESTION 3 

Special order 

[10MARKS] 

18 Minutes 

Suzie makes her own 100% natural hair conditioner. She currently produces 700 pots per 

month. The following information is available for a typical month: 

 Per pot 

Selling price R120 

Direct material R40 

Direct labour R15 

Variable manufacturing overheads R7 

Fixed manufacturing overheads (770 units maximum capacity) R7 000 

Zoey would like to order 100 pots for a Woman’s Day event. She would like to print a 

motivational quote on the pots. Zoey is requesting to pay R30 less per pot than the current 

selling price. Suzie will need to design and print these stickers at an additional cost of R5 per 

pot. 

REQUIRED: 

3.1 Should Suzie accept the one-time special order? Show your calculations 

and indicate both relevant and irrelevant items. (8) 

3.2 At what price will Suzie be indifferent between accepting the special order 

and continuing to sell the conditioner to her current customers? (2) 
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QUESTION 4 

Capital budgeting 

[30 MARKS] 

54 Minutes 

Music Ltd (“Music”) is a recording company that manages music artists and sell their music. 

Music is very successful in the industry, and almost every artist aspires to sign with them. The 

company is always looking for an opportunity to manage talented artists. 

It is the company’s policy to only contract artists whose music net sales yields a net present 

value above the company’s cost of capital. The company’s capital structure consists of: 

 Music issued 500 000 ordinary shares at a par value of R12 per share. Music’s shares are 

currently trading at R23. The return on government bonds is 13.8% at present. After 

assessment of the political, economic and country risks, the shareholders have stated that 

they require a premium of 15.2% to compensate them for the risk of investing in Music. 

 The company has long-term debt with an outstanding amount of R8 000 000. The loan 

carries an interest of 12% per annum, and interest payments are tax-deductible. 

Music is interested in offering a five-year recording contract to Y2K, a talented, but unknown 

music artist. The following information was gathered before the contract was offered: 

 Music will offer Y2K an upfront payment of R50 million. 

 It is expected that Y2K will sell 250 000 albums each year for R90 per album. The price of 

each album is expected to increase by 10% year on year. 

 Music will have to pay R2 million a year to Apple for Y2K’s albums to be loaded on iTunes. 

 Y2K’s music requires a dedicated sound engineer. The engineer will be paid R60 000 per 

month with the engineer’s salary increasing by 8% per year. 

 You may assume an income tax rate of 28%. 
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REQUIRED: 

4.1 Calculate the weighted average cost of capital (WACC). Music prefers 

to use market value to calculate WACC. (6) 

4.2 Use the net present value method to determine whether Music should 

offer a recording contract to Y2K. Show all calculations and round your 

calculations off to the nearest Rand where applicable. You may assume 

a WACC of 18%. (20) 

4.3 Advise whether Music should enter into the contract with Y2K. Discuss 

other factors that could influence the decision. 

(4) 
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QUESTION 5 

MCQ – All topics 

[10 MARKS] 

18 Minutes 

Choose the correct option (letter) and write it next to the question number in your script. 

5.1 Losas sells three chemicals: petrol, septine, and tridol. Petrol’s unit 

contribution margin is higher than septine’s, which is higher than tridol’s. 

Which one of the following events is most likely to increase the company’s 

overall break-even point? (1) 

a. All these options will increase the company’s overall break-even point. 

b. A decrease in tridol’s selling price. 

c. An increase in the overall market demand for septine. 

d. A change in the relative market demand for the products, with the 

increase favouring petrol relative to septine and tridol. 

5.2 Consider a decision facing a company of either accepting or rejecting a special 

offer for one of its products. A cost that is not relevant is: (1) 

a. Direct material. 

b. Variable manufacturing overheads. 

c. Avoidable fixed manufacturing overhead if the special offer is accepted. 

d. Common fixed manufacturing overhead that will continue if the special 

offer is not accepted. 

5.3 To maximise profits when a production constraint exists, a company should: (1) 

a. Promote those products having the highest unit contribution margins. 

b. Promote those products having the highest contribution margin ratios. 

c. Promote those products having the highest unit contribution margin per 

unit of constrained resource. 

d. Both a and b are correct. 

5.4 The opportunity cost of making a product in a factory, with no excess capacity, 

is the : (1) 

a. Variable manufacturing cost of the product. 

b. Fixed manufacturing cost of the product. 

c. Cost of the production given up to manufacture the product. 

d. Contribution foregone from the best alternative use of the capacity 

required. 

5.5 Only the variable costs identified with a product are relevant in a decision 

concerning whether to eliminate a product. (1) 

a. True 

b. False 
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5.6 The cost of a resource that has no alternative use in a make-or-buy decision 

problem has an opportunity cost of zero. (1) 

a. True 

b. False 

5.7 When the net present value method is used, the internal rate of return is the 

discount rate used to compute the net present value of a product. (1) 

a. True 

b. False 

5.8 An increase in the discount rate: (1) 

a. Will increase the present value of future cash flows. 

b. Will not affect the net present value. 

c. Will reduce the present value of future cash flows. 

d. Is one method of compensating for reduced risk. 

5.9 Some investment projects require that a company expand its working capital 

to service the greater volume of business that will be generated. Under the net 

present value method, the investment of working capital should be treated as: (1) 

a. Initial cash outflow for which no discounting is necessary. 

b. A future cash inflow for which discounting is necessary. 

c. Both a and b. 

d. Irrelevant to the net present value analysis. 

5.10 A weakness of the internal rate of return method for screening investment 

projects is that it: (1) 

a. Does not consider the time value of money. 

b. Implicitly assumes that the company can reinvest the cash flows from 

the project at the company’s discount rate. 

c. Implicitly assumes that the company can reinvest the cash flows from 

the project at the internal rate of return. 

d. Does not take into account all of the cash flows from a project. 
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QUESTION 6 

Capital budgeting 

[15 MARKS] 

27 Minutes 

Freeze Memories Ltd is a printing company that specialises in the printing of photobooks. 

Photobooks are becoming increasingly popular, and Freeze Memories considers buying three 

industrial printers to satisfy their need. Alternatively, Freeze Memories have to consider 

outsourcing. The following information is available for the five years: 

 It will cost R250 000 for the first year to outsource the printing. The outsourcing cost 

will increase after that by 5% each year. 

 Freeze Memories will purchase three industrial printers at a total cost of R750 000. 

The industrial printers have an economic life of five years. 

 The maintenance cost of the industrial printers is expected to be R33 000, R35 000, 

R36 000, R38 000, R40 000 for the five years respectively. 

 The operator's cost is expected to be R8 000, R13 000, R15 000, R16 000 and 

R18 000 for the five years respectively. 

 The other costs are expected to be R10 000, R15 000, R20 000, R16 000 and R22 000 

for the five years respectively. 

 Depreciation is on a straight-line basis and is not included in other costs. 

 The scrap value of the industrial printers will be R70 000 at the end of five years. 

 Cost of capital is 12%. 

 Assume that all the cash flows take place at the end of the year, except for the initial 

investment. 

REQUIRED: 

6.1 Calculate the payback period and the accounting rate of return (use the 

average investment as the denominator) for the industrial printer. Start 

your calculation with a table showing the net operational cash saving to 

be made by Freeze Memories Ltd over the five-year life of the 

investment. (15) 

Paper total [100] 
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